IERGON

LI VI NG

SERIES T.E.
HOME

INSTALLATION INSTRUCTION

swinging-sliding door with connecting rod in the door jamb

01-10-2010
REV2 Allrights are reserved - Duplication or divulgation without authorization is strictly forbidden.

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



MIERGON series T.E.

LIVING

EXPLODED VIEW OF THE HARDWARE

Parts list
ref. qty |description
100 1 Track
115 1 Upper arm
120 1 Hinge-side bracket
130 1 Lock-side bracket
145 1 Track cover
155 1 Upper plate with carriage
165 1 Connecting rod
175 1 Lower plate
185 1 Lower arm
% o 195 1 Lower bracket
¢ 205 4 |Screws TSPei M4x10
210 5 Screws TSPcr @4x40
@ - v 220 2 Screws TSPcr @3x10
T 230 1 |Screws TSPei M5x12
240 2 Track cover cap
250 2 Insert for cover track fixing
260 7 Screws TSPcr @3,5x30
270 1 Set for lock mediana evolution
280 1 Hexagonal screwdriver mm 2,5
295 2 Spacer
305 1 Doorpost
315 1 Upper pivot
325 2 Rod rotation brass
335 1 Fixing pin upper arm
345 8 Screws TSPcr @3,5x22
355 3 Fixing clamp
365 3 Screws TCcr &3,5x13
375 1 Hexagonal key mm 2,5
REV.2 Page 1 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 041 5728404 F +39 041 5728522 | www.ergon.eu info@ergon.eu



IERGON series T.E.

LIVING ASSEMBLING CONNECTING ROD
WITH UPPER AND LOWER ARM

Install the upper and lower arms into the rod which is already inside the aluminium
profile and mind the alignment, when you insert the brasses be careful to the
kingpins on the bearing brasses: they must be inserted in the screws' hexagons.

s i
o .

(29

Attention!
Tighten firmly the screws (2205)
with a hexaﬁonal spanner 2,5 mm.
Make sure that the arm adheres to
the pin plate of the connecting rod.

Parts list
Ref. Qty | Description
115 1 Upper arm
165 1 Connecting rod
185 1 Lower arm
305 1 Doorpost
325 2 Rod rotation brass
205 4 Screw TSPei M4x10 - ISO 10642
REV.2 Page 2 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



MIERGON series T.E.

LIVING ASSEMBLY OF CONNECTING ROD
WITH HINGE-SIDE BRACKET

N.B.: check the correct brasses (325) installation.

Parts list

Ref. Qty |Description

115 1 Upper arm

120 1 Hinge-side bracket

185 1 Lower arm

195 1 Lower Bracket

295 2 Spacer

315 1 Upper pivot

325 2 Rod rotation brass

345 8 Screw TSPcr @3,5x22
REV.2 Page 3 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



MIERGON series T.E.

LIVING ASSEMBLY THE DOORPOST TO HINGE-SIDE
DOOR JAMB AND FIXING CLAMP

upper side

45

=

{ \Ieft door jamb

Assembling door jamb

Assembling fixing clamp

Parts list

Ref. Qty |Description

115 1 Upper arm

185 1 Lower arm

260 3 Screw TSPcr @3,5x30 - DIN 7505-A

305 1 Doorpost

355 3 Fixing clamp

365 3 Screw TSPcr @3,5x13 - ISO 7050
REV.2 Page 4 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



IERGON series T.E.

LIVING

ASSEMBLY: DOOR JAMBS, TRACK AND UPPER CROSSBEAM

N.B. Details C - D

see page 6

3| |

gl | |8

/ z|§ =

s ol (o]

S/ Y2 @

)

/S / K] ™

v 318 |2

s vl c 3

/ M| @ -

Q| o Q

| quJ Q

™~ o o|o

NN B|15|2|85|%

NN :":'_QEIQ
NN w |B|o|L|®

MIENNE Sl5|2|8|=|3

ala|QIZ|E|2

O|loc|lo|.X| O

Ol L |n

Qty
3
1
3
3

LS = Panel Width + 11 mm

Ref.
260
270
355
365

REV.2 Page 5 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



IERGON series T.E.

LIVING

ASSEMBLY: DOORJAMBS, TRACK, AND UPPER CROSSBEAM

upper crossbeam

X

hinge side doorpost
to be assembled with silicone

\
Hexagonal T~
key mm 3. \\
L \\
. N
detail C

doorpost and

door jamb

lock side

* Screws for fixing the track
to the door jambs and adjustment
ﬂanel and door jamb opening +/- 2 mm
exagonal key mm 3.
N L~
detail D
j ’/
/
||
\
\ g
Parts list
Ref. Qty |Description
100 1 Track
130 1 Lock-side bracket
230 1 Screw TSPei M5x12 - ISO 10642
260 4 Screws TSPcr @3,5x30 - DIN 7505-A
REV.2 Page 6 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



IERGON series T.E.

LIVING

COMPLETE DOOR JAMB INSTALLATION

N.B. The levelling of the track and the plumb of the door jambs must be precise.

L1
L1
e /
”
&
Parts list
Ref. Qty |Description
355 3 Fixing clamp
REV.2 Page 7 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



MIERGON series T.E.

LIVING

DOOR PANEL INSTALLATION

( arm side )
grease o) @

Parts list
Ref. Qty |Description
115 1 Upper arm
185 1 Lower arm
335 1 Fixing pin upper arm
C = 280 1 Hexagonal Screwdriver 2.5mm
REV.2 Page 8 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



IERGON series T.E.

LIVING

ADJUSTING DOOR PANEL AND DOOR JAMBS

Adjust door jamb opening Adjust door panel
ot /m2mm -l2mm
Screws for fixing the trac 2 22 | Screws for blocking t.he
to the door jamb and / upper arm and centring
adjument of door jamb y the door panel
opening+/- 2 mm
o =
Q Q
s £
N N
e
S =S
S|t e— PANEL S
Wy
S S
N N
%)
N W
S 2
N T
o =4
— —i B
Screw for blocking th Ad}uégdzog“r”;ane,
lower arm and centring
REV.2 the door panel Page 9 of 10

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu



MIERGON series T.E.

LIVING

FRAMES AND TRACK COVER INSTALLATION

//
/'y
m/

\\\\\\\\\\\

Parts list
Ref. Qty | Description
145 1 Track cover
220 2 Screw TSPcr @3x10 - DIN 7505-A
240 2 Track cover cap
250 2 Insert for cover track fixing
REV.2 Page 10 of 10

Allrights are reserved - Duplication or divulgation without authorization is strictly forbidden.

CELEGON 30035 Mirano (Venezia), Via G. Galilei, 6 — Z.I. | T +39 (0)41 5728404 F +39 (0)41 5728522 | www.ergon.eu info@ergon.eu




